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of]hgf tyf sfo{qmdsf] gfd :yfg la=ah]6÷?= s}lkmot 

!= kSsL l;+rfO s'nf] lgdf{0f a08f]nL 5,00,000 ut jif{b]lv qmdfut 

@= 3f]/]6f] af6f] lgdf{0f ;fnfuf8fb'/sf8f 2,00,000  

#= ;fd'bflos ejg lgdf{0f ! sf]7f kSsL ufFh/L 2,00,000  

$= x'g}gfy k|f=lj= 8f]laufpF ef}lts dd{t ;'wf/ 8f]laufpF 1,50,000  

%= ;fd'bflos ejg lgdf{0f ! sf]7f kSsL ;]hfnL 1,50,000  

^= vfg]kfgL kfOk vl/b j8f e/L j8f sfof{no 1,40,000  

&= vf=kf=of]hgf lgdf{0f ;'+c//f} 1,00,000  

*= 7'nf] Gofnf] lgdf{0f  ;df]{nL 1,00,000  

(= kSsL l;+rfO s'nf] lgdf{0f k6o'l8 1,00,000  

!)= vf=kf= of]hgf dd{t /fjn 6f]n tNnL b'/sfF8f 1,00,000  

!!= 3f]/]6f] af6f] lgdf{0f al8k"/–tNnfufpF 1,00,000  

!@= vf=kf=Gofnf] lgdf{0f Ujlnv]t 1,00,000  

!#= s}nkfn dlGb/ 3]/kvf{n lgdf{0f tNnf] lagvfnL 1,00,000  

!$= lkkn rf}tf/f] lgdf{0f laTy8 8fF0ffvfln 50,000  

!%= du/f}+ vf=kf= of]hgf dd{t laTy8 50,000  

!^= n]6\7]sf]6 vf=kf= dd{t n]6\7]sf]6 50,000  

!&= vf=kf=of]hgf la:tf/ afonjf6f 50,000  

!*= vf=kf=of]hgf dd{t ;]nf}gf 50,000  

!(= a[Iff/f]k0f sfo{qmd hf8fn]s 50,000  

@)= dNnf] vf=kf= Gjfnf] lgdf{0f gf}nf3/ 50,000  

@!= l;+rfO{ kf]v/L lgdf{0f cg"gf 45,000  

@@= vf=kf= la:tf/ un}gfy dlGb/ v]tfnL 20,000  

@#= l;+rfO{ s"nf] dd{t a"hf{ v]tfnL 10,000  

@$= vf=kf= la:tf/ ;fndf  v]tfnL 10,000  

@%= vf=kf= Gjfnf] dd{t lv/f{ lv/f{ 15,000  

@^= uf]/]6f] af6f] dd{t df}/]wf/ :ofN6L 10,000  

s'n hDdf 25,00,000  

 



 


